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(1) ans: = (10™%) —10*"
(2) ans: 14

(3) ans : 296

(4) ans : 600

(5) ans : 48

(6) ans - 3
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(7) ans - 1800

(8) ans:

(9)ans21:4

(10) ans:
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(11) ans: 5 1 6

(12) ans: 15
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(Sol.)4 2006 =n+(N+1)+---+m
_mm+1) (n-DHn _

2 2
_(m-m(m+n)+(m+n) (M+n)(m-n+1)
2 2

54012 =(Mm+n)(M-n+1)=2>x1003=2>x17x59

m?>+m-n+n
2

w2<m-n+l<m+n
m+n | 68 | 2x59 |17x59[2x17x59] 2°x59

m-n+1] 59| 2x17 | 4 | 2 | 17
(3 &) (3 8) = m+n+m-n+l1=4m+1

5 Xy+X+y=35 i
2. WX Y H I FE B Ay ; » (X, y)EfiE o
Xy + Xy =286

f2: 4 a=xy,b=x+y
}ﬁ%%{am:%
a-b=286
c.asb 5 2°-35-2+286=02 fz -
(a,b) =(13,22) or (22,13)
- {E :+¥; 1;2 REFES 6
{a:x-yzzz
= (X,y)=(2,11) or (11,2)
b=x+y=13
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N /7

=l b

=5 R R A
?HERM NS

f2: OB O,C
ZPNM = ZCNO, :;(ﬂ—éNOZC)

Z/PMN = Z/BMO, = ;(n—AMO]B)

*0BL0O0O,, O,CLOO,
. 4ZNO,C+4ZMO,B =7

. Z/PNM + ZPMN =§

:>LBPC=§

-~ BPLCP
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A 1 & B R E:

(A - B
F 4L 304 0 21204

|, %=B1BHabcobr 2F#: 1> 7% &%%:% o kg
a+b, a—C‘f\T’b—C’FK FR2>T 3 8o
pf: a+b:aCb (*) =clab
S.hc=xy o 2@ x|a, ylb
(a,b,c)=1 = (x,b)=1, (y,a)=1
£ a=ux, b=vy
d (*)EF ux+vy=uv (k%)
ujuv—ux=vy, -(y,a)=(y,ux)=1
=Uu,y)=1, ..ulv
BIZ¥FEV|U, U=V #
d (*)F x+y=u
A a+b=ux+uy=u’
a-C=Ux—xy=x(U-y)=x’
b-—c=uy—xy=yu-x =y’
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| 1
n=2006 X =10 K= (X X et X)) 3

k=1>2>>n—1 Fxt+x+ -+ x02 i& o

X, :m(xO X X)) 0 #2006 -K)X, =X, X e+ X
Xy = L, 2006x, =1
2006
k=1> 2005%x, =X, ° # 2006X, = X, + X,
K=2> 2004x, =x, +X, ° H2006X, = X, + X, +2X,

k=3 2003x, =X, + X, +X, * #2006X, =X, + X, + X, +3X,

k=2005 » 2006X,00s = Xo + X, + X, + 0+ + Xy00, + 2005%,,,
®T 4

2006(X, 4+ X, + -+ + Xy005) =1+ 2005(X, + X, 4+ 4+ Xy005)
Xo + X, 004 Xyp05 =1
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